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BES-127 : ASSESSMENT FOR LEARNING  

Time : 3 Hours  Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 

 (ii) All questions carry equal weightage. 

1. Answer the following question in about  

600 words : 

Explain the concept of Assessment of 

Learning (AOL) and Assessment for 

Learning (AFL). 

Or 

Distinguish between Norm-referenced and 

Criterion-referenced evaluation.  
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2. Answer the following question in about  

600 words : 

Explain the concept of validity and methods 

of its calculation.  

Or 

Illustrate with examples learner’s e-

Portfolio and e-Rubrics.   

3. Write short notes on any four of the 

following in about 150 words each : 

(a) Difference between oral and written 

response tests 

(b) Difference between formative and 

summative evaluation 

(c) Advantages of Choice-Based Credit 

System (CBCS) curriculum 

(d) Advantages of semester system of 

academic practices. 

(e) Sociometric technique 

(f) Limitations of a rating scale 
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4. Answer the following question in about  

600 words : 

Calculate median for the following data : 

Class Interval Frequencies 

60—64 2 

55—59 3 

50—54 3 

45—49 4 

40—44 7 

35—39 12 

30—34 9 

25—29 4 

20—24 2 

15—19 2 

 N = 48 
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f'k{kk esa Lukrd (ch- ,M-) 

l=kar ijh{kk  

twu] 2025 

ch-bZ-,l-&127 % vf/kxe ds fy, vkdyu 

le; % 3 ?k.Vs   vf/kdre Hkkfjrk % 70%  

uksV % (i) lHkh iz'u vfuok;Z gSaA 

 (ii) lHkh iz'uksa dh Hkkfjrk leku gSA 

1- fuEufyf[kr iz'u dk mÙkj yxHkx 600 'kCnksa esa nhft, % 

vf/kxe dk vkdyu (,- vks- ,y-) vkSj vf/kxe ds fy, 

vkdyu (,- ,Q- ,y-) dh vo/kkj.kk dh O;k[;k 

dhft,A 

vFkok 

ekud&lUn£Hkr vkSj ekun.M&lUn£Hkr ewY;kadu 

(ukeZ&jsQjsaLM ,.M ØkbVsfj;u&jsQjsaLM boSyq,'ku) esa 

varj Li"V dhft,A 
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2- fuEufyf[kr iz'u dk mÙkj yxHkx 600 'kCnksa esa nhft, % 

oS/krk (oSfyfMVh) dh vo/kkj.kk vkSj bldh x.kuk dh 

fof/k;ksa dh O;k[;k dhft,A 

vFkok 

f'k{kk£Fk;ksa ds bZ&iksVZQksfy;ks vkSj bZ&#fczDl dks lksnkgj.k 

Li"V dhft,A 

3- fuEufyf[kr esa ls fdUgha pkj ij yxHkx  

150 'kCnksa (izR;sd) esa laf{kIr fVIif.k;k¡ fyf[k, % 

(d) ekSf[kd vkSj fyf[kr izfrfØ;k (mÙkj) ijh{k.kksa esa 

vUrj  

([k) jpukRed ,oa ladYkukRed ewY;kadu esa varj 

(x) ilUn&vk/kkfjr vkdyu iz.kkyh (lh- ch- lh- ,l-) 

ikB~;p;kZ ds ykHk 

(?k) 'kSf{kd laO;ogkjksa (,dsMfed izSfDVlst) dh 

lsesLVj i¼fr ds ykHk 

(³) lektferh; rduhd (lksf'k;ksesfVªd Vsduhd) 

(p) fu/kkZj.k ekiuh dh lhek,¡ 
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4- fuEufyf[kr iz'u dk mÙkj yxHkx 600 'kCnksa esa nhft, % 

fuEufyf[kr vk¡dM+s ds fy, ekf/;dk (ehfM;u) dh 

x.kuk dhft, % 

oxZ vUrjky vko`fÙk;k¡@ckjEckjrk 

60—64 2 

55—59 3 

50—54 3 

45—49 4 

40—44 7 

35—39 12 

30—34 9 

25—29 4 

20—24 2 

15—19 2 

 N = 48 

× × × × × 


